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1. |+ £ 2 4p % (Addition of Vectors)|: 4 + & a=[a,a,,8,] ~ b=[o,b,,b,] » I

a+b=[a +b,a,+b,,a,+h,] -

2. |# £ ¢ % £ 49 % (Scalar Multiplication)|: 4 + # a=[a,8,,8,] » ¢ 5 & & » &

ca=|[ca,ca,,ca,]c ¥t ARz B R e REApfE L EF cla+h)=ca+cb(

S ®2 s (c+kla=ca+ka(pt ™ 5|+ 2 o feiE) clka)=cka - la=a -

0a=0: (-la=-a -

3. |+ &2 4pte ¢ & % = (Commutativity) : 4 » £ a=[a,a,,8] ~ b=[b,b,b,] > &l

a+tb=b+a - ¥ pH2FERF a+0=0+a=a a+(-a)=0 -

) b=[b1,b2,b3] )

4. o B 2 4p 4 b £ 5 £ & (Associativity)| : 4w £ a=[a,a,,a,]

c=[c,,c,,c] » Bl(@a+b)+c=a+(b+c) -

~i=[1,00] -~ j=[010] ~ k=[0,01] >

5. ‘u/,,\g;}géc%\»; »B|: £ % Ea=[a,a,a,]

pla=[a,a,,a,]=ai+a,j+ak -




